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B4 LL—RREE

B K £ B FE 7K B iclE
1 2 AR KSCTH /N 2/ 5 1:01.77
2 KR K KSC#%F X /M 1/6 1:02.13
3 IS nhE KSC#%F -~ /N 1/ 3 1:03.13
4 IR EE T AT 4 % /M 2/ 3  1:04.59
5 58 Bhth KSCTH /I 1/ 4 1:08.39
6 SHH —H KSCTH /1 1/ 5 1:08.86

No. 16 52+ 50m BH A LL—R R

L AEBIIL—T >

B K £ ir B FE 7K B% =G
1 eI = KSCTH /N2 2/ 4 54.79
2 HJI BEFR KSCTH /N2 3/ 4 55.32
3 At FEKX KSCTH /N2 2/ 2 56. 20
4 P REL T 2T 4 F /N2 2/ 6 58.17
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B K £ Fr & FE 7K % =G
1A Bk T AT 4 F /N3 3/ 3 45.13 55
2 WigE —X KSCTH /N3 4/ 7 49. 23
3 B $hE KO J AK /N3 4/ 5 49. 32
4 i = KSCTH /N3 4/ 4 50. 17
5 )IsmBid =k KS C#F~X /N3 3/ 7 54.10
6 Kky &} K S CER)II /N3 3/ 5 56. 53
7 =fE MRE KSC#F~ /N3 3/ 6 1:00.37
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B K £ ir B FE 7K B icE
1 JIF il KO J AK /N4 5/ 5 41. 61 25%
2 NN R B KSC#F~x 7N 4/ 3 42. 66 1%
3 HJR FH KSCTH /N4 5/ 4 43. 01 3k
4 b thA KSCTH /N4 5/ 3 47. 41
5 Fak KS C#F~X /N4 5/ 2 47. 43
6 Ai)ll A KSCTH /N 4/ 6 51.37
7 EHM O OEE KSCTH /N4 5/ 6 51. 46
8 JLH J& KS CER)I /N4 4/ 2 1:07.22
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BRI K 4 T & FE 7K % B
1 AP BE5L KSCTH /NG 5/ 1 44. 80
2 b= & KSCTH /INB 6/ 3 45. 21
3 EE A KSC#F~ /INB 6/ 6 48. 48
4 R REE KSCTH /NG 6/ 7 48. 55
5 7 k5 =} KS CE=ZEJII /NG 6/ 2 53. 65

H o HBE: 107200 13:52



FISEIS TG ATV > "7 T o7V Kk RES
S KR P AEAR—Y o & —

WIH : 2024410 H20H (A)

No. 16 52+ 50m BH
LK AXEFIHTIL—T >

H 77— /L (25m)

B4 LL—RREE

B K £ & FE 7K B iclE
1 i K& KSC#%F NG 7/ 4 36. 85 1%
2 R EEA KSCTH /N6 6/ 4 39.08
3 &Il i KSCTH NG 7/ 5 39.50 1%
4 )Igg  FEK KSCTH NG 6/ 5 41.06
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B K 4 T & ok JKE& B
1 #KHE  Eid KSCTH 12 7/ 2 41.39
2 MBS KSCTH = 7/ 3 48. 59
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BRI K 4 T & FHE 7K % B
1 EH K T 2T 4 F /N2 7/ 6 45. 67 4%

No. 16 BB+ 50m BH# B A LL— AR

K BFEBIIL—T »

BRI K 4 T & ok JKE& B
1 Kigp BEF KSCTH /N4 9/ 4 32.79 8k
2 KEE R KSCTH /N4 9/ 3 38.54 4%
3 A% S KSCTH /N4 9/ 5 39.57 3k
4 JE — KSCTH /N3 8/ 5 41.48 A3t
5 HH  FH KSCTH /N3 8/ 4 42. 60 3tk
6 FH Kk KSC#F -~ /N3 8/ 2 44. 49 2%
7 KEF fpi KSC#%F X /N3 8/ 7 44. 92 27%
8 (hH  fnzE KSCTH /N3 8/ 6 48. 45
9 FH KK KSC#%F -~ /N3 7/ 7 48. 75
10 KIE S KSC#F -~ /N4 8/ 3 52.22
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K BFCONL—T >»

BRI K 4 T & ok 7K E& B
1 T2 H J—ZXAC NG 11/ 6 30. 41 Tk
2 P& RE B KS CER)II /N5 10/ 5 33. 89 6%
3 /I #* KSCTH /INB 10/ 3 34.54 %
4 dH ER KS CE=R) NG 10/ 6 37.30 1%
5 IR J& KS CER)II /N5 10/ 2 39. 68 3%
6 HE BEH KSCTH /INB 10/ 4 39. 71 1tk
TR A J—ZAC /N5 10/ 7 39. 91 3k
8 R KX KS CERJI /N5 9/ 2 42. 65 1tk
9 1L BGm KS CER)I /N5 9/ 6 45.09
10 A ZezE K S CER)I /NG 9/ 7 52.30
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K BFDIIL—T »

BRI K 4 T & ok JKE& B
1 dH 7% KSCTH 13 11/ 4 24.50 107%
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3 L sfE KS CE=R)I 1 11/ 2 32. 49 5k
4 R T AT 4 F NG 11/ 7 33.13 5k
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